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GENERAL AWARENESS

1) Which of the following countries /Organizations
banned the import of Alphonso mangoes from
India after authorities foundconsignments
infested with fruit files? { The ban came into

force from Ma 1,2014)

1) Australia 2) USA
3)New Zealand  4) ASEAN
5) European Union

2) Thomas cup and Uber cup badminton
Toumaments will be held from May 18-25,
2014 in?

1) Mumbai  2) New Delhi  3) Pune
4) Bangalore 5) Hyderabad

=3} As per a report Published by Freedom House, an

© NGO,on May 1,2014 what is India’s rank in

press freedom ?
1157 2)67 3)78 476 5)68

4) Who became the new chief Executive Officer of
Mokia on May 1,2014 %

1) Rakesh Kapur 2) Shantanu Narayan
3) Anshu Jain 4) Rajeev Suri
5) Sunil Kaushal

5) Ashok vemuri,an Indianamerican business
executive is the current Chief Executive Offi
of ( He Joined this company in September last
year )

1) Infosys 2) Wipro
3) Cognizant technology solutions
4) Tata Consultancy services

5) IGATE Corporation

&) Which of the following Bollywo
been conferred with the “pride
Nation®award for his role in M
1) Saiman Khan 2) Ajay Dg
3) Farhan Akhtar
5) Aamir Khan

Ty Which of the follo
Ukraine 7
1) Ashgabat
4) Crimea

Q}Thumas wch i

"

1} Justice KM, Basha 2} Justice P.C.Pant
3) Justice T.Nandakumar Singh
4) Justice Swatantar Kumar  5) None of these
11) Intellectual property Appellate Board has its
headquarters at !
1) Mumbai  2) New D::Ihu
4) Chennai  5) Ahma {
12) Which one of the follo ‘
never won the Indira Garie
Disarmarntm and [)

Archery
Golf
Wrestling
y Dharmender Dalal Wrestling
5) Mouma Das Shooting
) Shaheen 2 is the name of the joint exercise
between the air forces of Pakistan and ?
1) USA 2) China 3) Iran
4) Afghanistan 5) None of these
16) The second ADMM{ASEAN defense
Ministers® Meeting) pluswas held in 2013 in ?
1) India 2) Malaysia  3) Brunei
4) Indonesia 5) Phl]lpplnes
17) Which city will host the 9™ G20 summit in
November 2014 7
1) Istanbul  2) London
4) Brisbane  5) New Delln
18) RIKEN is the largest research institute in_?
1)China  2)Russia  3) Sweden
4) Norway 5) Japan
19) The central Bank of Japan is 7
1) The Senshu bank
2) The Master Trust bank of Japan
3) Mizuho Bank
4) Fuji Bank
5) Bank Of Japan

1) Seoul




20) The Social Security Agreement Between India
and Which of the following countries will
benefit 40 thousand persons of Indian origin in
Quebec Province 7
1) Canada  2) Luxembourg 3) Netherlands
4) Malaysia 5) Belgium

21) Ahimsa Messenger program, an initiative to
curb violence against women ,was launched on
August 31,2013 in ?
1)Kolkata  2)NewDelhi 3) Mumbai

4) Rae Bareli 5) Amethi

22) Ahimsa Messenger program is implemented

through ?

1) Anganwadi Centres

2) Panchayati Raj Institutions 3) Sabla Girls
4) Both 1 and 2 5)All 1,2 and 3

23) Ahimsa Messenger is an initiative of the
Union Ministry of 7
1) Home Affairs 2) Health and Family Welfare
3) Social Justice and Empowerment
4) Information and Broadcasting
5) None of these

24) Bio360 is the first Life Sciences park in which
of the following states 7
1)Kerala 2) Tamil Nadu 3) Andhra pradesh

4) Gujarat 5) Karnataka

25) An expert commitiee appointed to examine the {
current monetary policy framework of the
Reserve Bank of India Was headed by ?
1) Anand sinha 2) Bimal Jalan 3) Usha

1) Virginius Xaxa 2) Aruna Roy
3) Narendra Jadhav 4) Ashis Mondal
5) Pramod Tandon
31) Which is the only state in Indis that has
increased its forest cover in the past two
decades ?
1) Assam 2) Sikkim 3) Manipur 4) Meghalaya
5) Tripura
32}Pakyungﬁnpmtn‘ht_mu1"
1) West Bengal 2) Silkdim
4) Meghalaya  5) Trig
33}Th¢ﬁmbass:lhﬂ .

4) Urjit patel  5) Arvind Maaram Bank for a three-year period 7
26) Federal Bank has launched the I}Mushmghhnmd 2) Parvez Ahmad
version of conventional passbook 3) Abdul Hamid Banday 4) Meera Jamwal
Fedbook Federal bank is  ? ) Surject Singh
1) Regional Rural Bank 7 37) A Street in Winnipeg has been named after
2) Public sector bank  3) Nationaljz Mahatma Gandhi. Winnipeg is a city in ?
4) New Generation private Bahl 1)Russia 2)UK 3)Canada 4)South Africa 5)Germany
5) Old Private Bank 38) Which country will host the 201 3edition of the
27) The Central ’ SAFF ( South asian Football federation )
National Institute of S in? championship? ‘ _
1)Kangra 2)Ka 1)Nepal  2) Maldives  3) Afghanistan
4) India 5) Bangladesh

4) Leh

stal 5 s of Schedd
their uplift, pam;:ulnrly in socio-
i¢ Health and education fields. The
ittge is headed by ?

39) The National Association of Software and
service Companies (NASSCOM) appointed
which of the following persons as its Chairman
for 2014-157
1) R.Chandrasekaran 2)B.V.R.Mohan Reddy
3) N.R.Narayana Murty 4) G.Gopalakrishna
5) §.D. Shibulal

40) Who adorned the covers of the 151 edition of
the Wisden Cricketers Almanack (He is the
first Indian to feature on the cover of the

Almanack }
1) Sunil Gavaskar  2) Sachin Tendulkar
3)Rahul Dravid ~ 4) V.V.S.Laxman

5) Saurav Ganguly




m:m: m m Read the following
carefully and answer the guestions given below if.
works [ expressions are given in bold in the passage &
you focote them while answering some of the quest

Radically changing mensoon patterns, reduction in
the winter rice harvest and a quantum increase in respd-
ratory diseases all part of the environmental doomsday
scenario which is reportedly plaving out in South Asia,
According to s United Nations Environment Programmme
report, a deadly three km deep blatant of pollution com-
prising & fearsome cocktail of ash, acids, aerosols and
other particles has enveloped this region. For India,
already struggling to cope with a drought, the implica-
tions of this are devastating and further erop failure will
amount to a life and desth question for many Indians.
The increass in premature deaths will have adverse soeial
and economic censequence and a rise in morbidities will
place an unbearable burden on our erumbling health svs-
tem, And there is no one to blame but surselves. Both offi-
cial and corporate India has always been allergie to any
mention of clean technology, Most mechanical twe wheel-
ere roll off the assembly line without proper pollution con-
grol systems. Little effort is made R & D on simple tech-
nologies, which could make a vital difference to peaple’s
lives and the environment.

Howewer, while there is no denying that South Asia
must clean up its act, skeptics might questions the timing
of the haze report. The Johannesburg meet on Rio#10 ia
just two woeks away and the staze is set for the usual bat-
tle batween the developing world and the Weat, particu-
larly the U.S. President Mr. Bush has adamantly refused
to sign any protocol, which would mean a change in
American consumpiion UN. envirenment report will like-
ly find & place in the U.S arsenal as it points an accusing
finger countries like India and China, Yet the 1.5, can
hardly demy its own dubious role in'the matter of eras-
ing trading quotas, Richer countries can simply buy up
excess credits from poorer countries and continue to pol
lute. Rather than try to get the better of developing couh
trieg, who undeubtedly, have taken up environments
shorteuts in their bid to catch up with H'l:w-eﬂ.
uhuuld take ] 1m]-r. at the rrmrnnm:nt P

4l. Both official and eorporaty Ing
1. failure of monsoon
2. poverty and inequalit;
3. slowdown in industrig

make positive effect on our I!H-I:IT'I-I- to santrol pop-
ulation
have less aspirants in the society

5. have healthy effect on eur economy
' 44. Choose the word which is SIMILAR in meaning
to the word 'profligney’ as used in the passage.
1. wastefulness 2. conservation
3. upliftment 4, eriticalness
. B, dencuncement
Aceording to the passage, India cannot toler-
pie any further-
1. erop failare
2. deterioration of health care syslem
3. inerease in respiratory diseases
4. proliferation ufnu:lﬂﬂl' devises

imet's of the forthcoming mest to teach a

sson to the U5,

wwring attentions of the warld to wands devas-

ating effects of environmental degradation.

15, wants to use it as a handle against the
develooping countries in the fortheoming meet

5. The meet is a part of political agenda of the UN.

Choose the word which is SIMILAR in mean-

ing to the word ‘allergic' as used in the pas-

sAgE.

1. liking

3. possessive

5. repugnant

Which of the fnlluwiui is the indication of

environmental degradation in South Asia?

1. Sacial and sconomic inequality

2, Crumbling health care system

3, Inndequate pollution contrel system

4. Uwrmphuiﬂn:-nhchm:lug‘j

2. passionate
4. erumbling

Mo country should show superiority over other

countries.

1I.N. is putting in hard efforts in the direction of

pollution contrel

All countries rust join hands in fghting pollution

Mobody should travel thmugh tunnel to avoid

health hazards

We all must strive hard to incrm.ngrimlturd

production

., Which of the following finds place in the United
Nations Environment Programme Report

1. Changing monscon patlerns

2. Substantial incresse in respiratory diseases

3. A sarious sover of pollution over the region”

4, Reduction in winter rice harvest

B. Mone of these

Which of the following statements is NOT
TRUE in the context of the passage?

4.

5.



1. -1L.N. environment report blames countries like
" India and China
2 Developing countries have taken environmental
shorteuts in their bid to eateh up with west.
3. U8 is alse to be balmed for environmental
degradation and pallution,
4. Indians cannot afford to have any further crop
failare
_ 5 US huughmdmeq.rmmﬁwdmkm
water.
B3. Ar.u-urdmg‘ to the passage, Johannesburg nm-at
is going to witness....
1. calm anddmpa.nmnnata thinking tn the issue of
pollution control.
2. a blaming game between developed and develop-
ing countries
3. refusal of UN. to work as arbitrator
4. U.S. agreeing to hntatﬂmimunuflnmﬁngits
consumption
h. countries agreeing for l'ughe-r mumt-a‘:}' alloca-
tion to B & D
64. Choose the word which is MOST OPPOSITE in
meaning to the word 'dublous” as used in the

passage?

1. unguestionable 2, dissimilar
4. illegal 4. antisocial
B, imnovative

56. Choose the word which is MOST OPPOSITE in
meaning to the word ‘morbidity” as used in the
passage. .

1. powerfulnesa 2. healthiness

3. softness 4, aruteness
5. purposeful

Directions (56-65); Read each of the following sen-
tences do find owt whether there i3 any error in it. The
error, if any, will be in one part of the sentence. The Rum-
ber of that part is the anmwer. If there is no error, the
answer iz (5k (Tgnaore errors of punctuation, if anyl
56. This facts make it very clear (1) that hi

hand in the murder (2} though he st

pleads innoeence. (40 No error (5)
, BT An-uunnddenuruy:mhnhwﬂt

interesting finding (3} regarding

tality rate in India. (4} No e
58, Gangotri has a special sigmifican

devout (2)/ as it is considers

af king Bhagirath who bodigh

" to the earth. (1) No erry
59. The recent study has (

(2} is perceptible cHang

thnpﬁnplﬁl:ﬂ-l'ﬁ
B0, Thndlﬂ.lnuu'ani'

(2 lultmdnflﬂlfgﬂmghyhtlﬂ.{l}-’binﬂ
(&)

B5. ﬂnnyuquﬂﬂﬂ]url.nhtmh'n&nunﬂm{ﬂh'
his friend (3} who is ginger and a scientist. (

! Mo error (B).
Directions (66-70): Which of the following phrases
(1}, (2}, (3) and (4) given below should replace the phra .
given in bold in the following sentence to make the sen:
tence grammatically meaningful and correct. if the sen
temce is correct as it is and Mo correction is requi
mark (5) as the answer.

66. If the evidemce bear ouf the charge, he may

E!

ey

m&dmduth.
1. bears out 2. bare out
3, was born out 4. haa borne out

.- ment is parallel by &

2. will be parallel by |
4. is paralleled with

poe redeem him after last weck's

: 4. to redeem himself

Nn carrection redquired

shall eat some now and save some for tomorrow,

some and save some

. now some and some e
3. some and save

4. s0me Now oF S&Ve BOME

B. No correction required

Directions (TI-75); In each guestion belme, four

words whick are numbered (1), (2), (3 and (4) have been

printed of which one may be wrongly spelt, The rumber of
that word i the answer. If all the four words are correctly
spelt mark (5) Le. "All correct’ as the answer.

2, to redesm ‘
|
|
|
|
]

Tl ‘1. Reveranes 2. Heavenly
3. Elsewhere 4. Celebrate
5. All sorrect
72. 1. Admirable 2. Mingle
3. Instinctively 4, Accomplishment
5 All correct :
73. 1. Opportunity 2. Lathargy
3. Procrastination 4. Berevgment
5. All carreet
74. 1. Discouraged 2. Proceeding
3. Disastarous 4. Innocent
5. All correct
75 1. Friendship - 2. Soldiar
3. Grandeur 4. Famili.ar
fi. All correct

. Directions (76-80):0n each of the faﬂmmg questionsa
there is a sentence with o pair of blank spaces, followed by
five poir of words. Choose the pair that can fill up the
blonks in the same order. The number of that pair is vour
GASICEF.
T6. Handicrafts constitute an important— of the
decentralised sector of India's economy and
— smployment to over-aix million artisans,
1, factors —aims 2. extension — plans
3 a&glmnt. - provides 4. supplier = gives
. period — projects
7. Among a number of hobbies that one can—,
the hobby of reading is the most useful and....



1. develops —aceumulative
¢ 2 cultivates = enlightened

4. nourish - cumulative

4. absorbs — durable

b. eosiders - appreciative

organisation for which they work can be — to
the benefit of both the parties.

L. services = evaluated

2. interaction — improved

-4, sophistication - developed

4. work - appreciated

G. life — conceptualized

- 78, Part of the confusion in our societies — from

M. 099X 14+ 1+07=7

118 2. 180 318 4. 1800

5. None of these

Directions (91-95): Read the following information

carefully to answer these questions. These stntistical data
were collected in the year 2005, )

Humirpur in Gujarat is a small township with a pop-
ulation of TE000.40% of the population belongs to the
above 35 age category. The ratio of males to females is 1.
1.5. Past records indicate that the population in
Hamirpur grows at an annual rate of 7%. The total cul-
tivable area in Hamirpur is 2 lakh acres. Faddy is the
major erap of Hamirpur and has shown average produc-
tivity levels of 2.5 tonnes pe
abeut 10 inches of rainfal

our pursuit of efficiency and economic growth, below the
in the —— that these are the necessary ingredi-
ents of progress, 4, 43000
1. stems - conviction 2, derives = gvaloation
E.Eﬁargen—mﬁdurnti.un 4. obtains - exploration 1 Hamirpur is
5. extends — planning ver of females by

' B0, The problem of housing shortage — with the pop- 2. Greater by 15000

i ulation explosion has also been - by this policy. 4. Lesser by 10000

b e

Rt iy - to females in 2006 remains

2, dispensed — achnowledged
4. compounded — addressed
4. threatened — manifested
5. projected — discussed

Directions (81-90): What will come in place of the

i question mark (2] in the following questions ?

1.8 8.15-
BL By +gof 0% of f=15-7

2005, then the number of
be

4. 31500 4, 32700

3. 3000 4. RERTO

. AT in 2006, only 60% of the average produetivity
were attained, then the total paddy production

L5558 2,627 3.608 4613 of Hamirpur would be

i E. Nons of these 1. 2,6 lakh tonnes 2, 3.0 lakh tonnes

| B2.. T275.84 - B804 + 124518 = 7 . 8. 2.8 lakh tonnes 4. 3.3 lakh tonnes i

| Less0202 2. 6560.598 5. 3.6 lakh tonnea f

3. B550.958 . 4 6510.958 Directions (81-85): In the following number

i i . llrlu.l.wmugnnmberingiven. Find out that |

1 5. None of these wrong number.

'sa,%—‘g;-? 96. 2 11 38 197 B227 65806

; = L1 2. 38 8197 4, 1172

L1l zaf 3.11 A 8237

! g 97. 16 19 21 30 46 71 107

| 5. None of these 1.19 2.21 330 446 -

| B4. 18800 + 470 + 20 =T 5. T1

i 1, 800 22 3.[23.5 4 i 98. 7 9 16 26 41 88 107 173

| 6. Nune of thess L107T 218 3. 41 4. 68 ,

' 5 _ra00 b. 25 |

| 85 JT4136= 3 of 320 99. 4 2 35 75 2625 118125

| L1938 2460 4. 4096 fopsigudl & 2 '

| 3.35 4.2 !

! 5.7.5 4

| B8 TTLOT 47, Kl :?HE.E-E 100.16 4 2 15 L75 1875

| - 1. 1875 2,175 '

| . &.Nong _ 3.15 42 f

| BT, 0.04 X7 4 0.000018 5.4 ' ]
4. 400 Directions (101-106): Find out the approximate |

value which should replace the question mark (?) in the

| 8858 of 180 = 50% of 310 fullowing, questions. (¥ou are not expected to find out the |
3. 65 4, 55 exact value) — u ) . I
. - 1018537 4+ gpises _ et ’ i
BE. 47+ 16 %16 u? - J At Rd |
2 3.289 4. 86 i

16 4

1, 4 7.1 3.4 41 ’ - 527

5. None of these



3.001

102 -».111.'I'l]01]+lt of 1881, 89 = 7
1. 2500 2. 1230 4. 1640 4. 15625
0. 2130

10, 0.0004 + 0.0001 x 36000008 = 7
L 0.10 2145
3. 145 4. 14.5
. 1450

104 187% of 12345 = 7
1, 170006y 2. 15000
&, 150:d . 14300
5, 000

105, 3738 + 164 = 8T = 7
1105400 2, 4000
5. 6300

3. BE0O0 4. 690

Directions (106-1100 Study the following to answep
given question percentage of Marks obtained by Sever

students in six Subjects.

[ Subject |English |Hasta l:hmpuhm_*ﬂi‘lh
Whlsx Marks| (B0 rij [E TR T T -
| Studemt
Meora 100 f.1] 50 a0 i)
Subsdh | BO 0 A0 Wa | B0
* | Kamnal B n 60 a0 T
Bonl 80 i 65 B | &0
Richu 50 Sy B2 Bl 85
Irene 40 B | B4 T | 85
| Vigay B &0 a5 (] 50

106. What are the total marks obtained by Meers B

all the subjects?

1. 448 2. 630
3. 470 4. T4.67
&, None of these

107. What are the average marks obtained by

seven students in History 7 (rounded off to €

digits) _
17286 22732 32486 42914
5. Nome of these .

10E How many students h.nra'i"nl G0% o
marks in all the subjects?

1. Omne 2. Two
3. Three 4, None
5. Mone of these .
109, What is the overall percentage of

3. 758

5. None of thess
0. In which subject is the o

1. Maths

3. History

§. Mone of I;heae

2. 524 kgs

-I'\"II}E' af Lhess

I3 Sudhanshu invested Rs. 15,000 at interest & 10
pc.p-a. for one year. If the interest is com-

4. Can't be determined 5

|
4
]
1

i

14

pounded every six months what amount will
Sudhanshu get at the end of the year?

1. Hs. 16,537.50 2. Ba. 16,500
3. Rs. 16,626.50 4. K=, 18,150
5. Mone of these y

Ratio of the earnings of A and B is 4:7 respec-
tively, If the earnings of A inerease by 50% and
the earnings of B decrease by 25% the new
ratio of their earnings becomes 87 respective-

Iy. What are A's earnings?
1. Bs. 26,000 2. Ha. 28,000
3. Rs, 21,000

5. Mone of these

3 .l‘ ".B&}LEE

DaStudy the fallowing graph
egtions given below it

L1

326

———

A B [ D E

1B Approximately what is the percentage of prof-

us.

itloss that companies C and D had together?
1. 10% profit 2, 12% profit

3. 104% loga 4. 12% lass

5. There was no lass or profit

If the income of Company A had increased by
10% in year 2007 from year 2008 and profit
earned in 2006 was 20% what was its expendi.
ture in 20067 (The value upio two decimal
places in crores)

1. 36.36 2 3242
3. 30.30 4. Can't be determineds .
None of these

18 If the expenditure of Company G in 2007 was

20% more than its expenditure in the year 2006
and the Company has earned a profit of 106 in
Z006. What was the company ineome in 2006 in
crores Ha,T

1. 37.5 2 41,85

33409 4. Cannot be determined
&. Mone of thess ' -

8. Which of the following Companies had the

highest percentare of nrafitdnae in 2007
1.B 2C

3F 4 A
. None of these '



{120, What is the approximate percen. tage of profit

carned by all the Companies together in 20077
111 2. 1156
3. 10.5 4,12

2. 126

Four of the following five are alike in a certain
way and so form a group. Which is the one that
does not belong to that group?

1. Bat 3. Bpider

3. Mosguito 4, Butterfly

| 5. Cockroach

122, Akshay is 16th from the left end in the row of
boys and Vijay is 18th from the right end.
Avinash is 11th from Akshay towards the right
end and Jrd from Vijay towards the right end.
How many boys are there in the row?

L Data inadequate 2. 42

3. 40 3. 48 .4. None of these
123, How many such pairs of letters are there in the
word 'CHILDREN' each of which has as many
letters between them in the word as there are
.. between them in the English alphabet?
« L8 25 3.4 42
5. None of these
124, Pointing to the lady in the phutnl;raph.
Mrinalini said, "Her son's father is the only

son-in-law of my mother”. How is Hrmul.inl
related to the lady?

1. Siater 2 Mother
5. None of these

125. In a certain code MOTHER' is written as OMHURF.
How will 'ANSWER' be written in that code?

3. Cousin 4., Aunt

1. NBWERF 2. MAVSPE
3. NBWTRD 4, NEXSSE
. None of thesse

Directions (126-130): Study the following informa
tign carefully and answer the questions given belowr:
ment with Il-tier sleeper berth, Each of them has i
ferent profession of Engineer, Doctor, A
Pharmacist, Lawyer, Journalist gnd Pathologist. "5
occupied two lower berths, three middle b :
upper borths, B, the Engineer is not on th 0
The Architect is the only other person who b
mtypenfkrmuthﬂnfﬂﬂnn :

Y Lﬁa: af the Doctor.
136. What is [¥Vs professiop
1. Doctor

3. Lawyer

berth?

1. BD 2 BK

3 BT 4. Data inadequate
5, None of these

' 130. Who is the Architect?
LD 2 H iR .
4. Data inadequate 5. None of these

131 Tf it s possible to makea meaningful word with
th&mﬁmnﬂh.thnmwmhmdﬂm“ﬂm
letters of the word 'OUTRAGEQUS', which of
the following will be the second letter of that
word? It more than one such word can be
m"mT"mwmﬂ if no such
word can be formed, give 7" as the answer.
LE 2 A 5.8 47

8 X

4.0

tud written in"that code?
s S %+pA=m 4 H+D=

of the word "PRINCE" are
" u’_“ Appear in the Eﬂﬂlﬁh
hak thupuﬂﬂnnnfhwmln?hm“‘ﬁ
n unchanged after the rearrangement?
3. Two 4. Three

A is mother of B' and "A # B’ and '..!L i B memg

'4 1z hosband of B' then which of the I'o.'lll_'m'ing_f

means 'P is grandson of §' 7

LQ#RxS*P 2 QwN=P#R

3.0 x L#N=P 4 PEN=M=Q

| 5. Mone of these

! Diirections (136-140); In the following questi

the symbaols ©, §, %, @ and ¥ are used with thefnl-

lowing meaning as illustrated below:

P @ (f means ‘P is neither greater than mrcqualmﬂ ]
P $ @ means 'P is not smaller than Q ]

| 'P#Q means P is neither smaller than nor greater that &

P © ) menas ‘P is not greater than @

P % @ means 'P is neither smaller than nor equal to @

Wow in each of the following questions assuming

| given statements to be true, find which of the two con
siona [ and 11 given below them is'are difinitely true?.

i - Give answer (1) if only Conclusion 1 is true.

:| Give answer (2) if only Conclusion II is true,

‘ _ Give answer (3) if either Conclusion 1 or [1is t

Cive anawer () if neither Conelusion I nor ITist
i Give answer (5) if both Conclusions [ and I1 are t
136, Statements :
JIRREKKED r
ﬂnnuluilnniil E@d )
. nopad
137, Sﬁumﬁh.
MOTE®TEK@N
Conclusions: ] H % M
ME®M
136, Statements :
v¢D,DERLR%F
Conclusions: L R %V
Invar



138, Statements :
BREE#8, 882
Conclusions: [. Z @ E

ILE#E

140. Statements :
HaMNOMNST
Conclusions: L H#T

ILH%T s
Diirections (141-145); Answer the questions given
below referring to the following arrangement:
J*RAPLZ#INTOCEKED-M56B<AQ4

141. Four af the following five are alike in a certain
way a8 regards their position in the above
arrangement and so form a group. Which is the
one that does not belong to that group?
1.23# 20IC 3LEO5 4. #P1
5. B«

142, What will come in the place of the question
mark () in the following series based on the
above arrangement T
PRJ#LATIZEONT?
1.DKC 250 3LDK@ 4. =5@

' 6. None of theses

148, If the above series is reearranged in the

reverse order, which will be the eleventh ele-

ment to the left to the sixteenth element’ from

the left end ? *
1.J 2.8 1B 4, <
5. None of these :

144. How many such numbers are there in the
above arrangement each of which is immediat-
ly preceded by a consonant and not immedi.
ately followed by a symbol?

1. Nome 2. Two 3. Four 4. Three
&, None of these

145. How many such symbaols are there in the above
arrangement each of which is immedia
preceded by a number and immediately
lowed a consonant?

1. One 2. Two
3. Three 4. More than
5. None

Directions (146-150): In each of the ghevtjopd belme
are given three stotements followed by fou

ments to be true even if they seem tord

commaonly known facte, Read all
decide which of the given "

2. Only II follows
4. Only IIT follows

147,

All males are wolves

All owls are males

All parrots are owls,

Conclusions: .

LAll wolves areowls - :
I All owls are walves
II1. All purrots are walves
IV, All parrots are males
1. All follow
2. Only IIT and IV follow
3. Omiy H and I1I follow
4. Omniy 11, I and IV follow
5. None of these .

148, Statements :
Bome leaves are skies
All skies are ¢
Mo colad is a

s

1. Either I or IV and I1 follow |
2. Either 1 or IV and III follow

3. Either 1 or IV follow

4. None follows

&, Either I or IV and 11 and [T follow

150, Statements:

Some mangoes are apples
Some bananas are apples
Some branches are bananas
Conclusions:
1. Same mangoes aré bananas
11. Some branches are apples
I11. Some branches are mangoes
IV. All apples are mangoes
1. Nome follows 2. Omly I and 1T follow
4. Only T and IV follow 4. Only T and IV follow
&, Al follow
Directions (151-1565): Fallowing is given a set of dig-
its and the corresponding letter eode of each digit followed
by eertain conditions for coding.
Digit : 2 [6]7[B[o4l6[a]1
Letter CodeiM| R|T|B [W|K[D|N|J
In each question one number consisting six digits fol-

lowed by four combinations of letter codes. You have to -

find out which of the combination of letter codes repre-
sents the set of digite based on the above codes and the

conditions given below and mark your answer according-

1y, Otherwise give answer (5), i.e, None of these.
Conditions : (i) If both the first and the last digits of
the number are odd digits then both are to be coded as [
(i) If both the first and last digits of the number are
even digits then both are to be coded as Y.



© 151 726385 - | 2 Competitors oriented

1. IMDNWI 2 YMDNWY i 3. Producer oriented
3, TMDNWR 4. IMDNWR | 4, Bath (1) and (2)
5. None of these 5. Bath (2) and (3)
152 263847 162. Warehousing Management does not include
1. IDNBEI 2 YDNBEY 3. IDNEEY 4. MDNEEY 1. Space dﬂ:ﬂ.‘um:l.lhun 2. Btock layout
5. None of these ' 3. Stock design 4. Stock placement
153. 591245 5. Order picking procedure
1. TWJMEB 2 EWJMEY 3 YWIMEY 4 EWJMEB 163, ﬁmmmmma
5. None of these [ spegific role in a particular segment is called
154, G15824 : i 1. Mass marketing 2. Niche marketing
L. IJEBMI 2 LJRBMY 3.YJREMY 4. DJRBMEK 3, Birategic marketing . 4 Modelling
5. None of these ion'marketing
155. 831785 ré CONSumer nor-
1. INJTWE £ BNJTWR 3. BNJTWY 4. YNJYWY by, delivery ete are
5. None of these '
Directions (156-160): In each of the questions given - Shopping goods 2, Speciality goods

below which one of the five answer figures should come . Bta 4 Derived demand
ﬂ.ﬂ:rlﬂa;epmﬁlemfigurr;, fihw&mmmﬁﬂm,ﬁ' kY o
158. Problem Figures

VAVIOIDID

p is Bot an example

-

2. Caffee

2. Monopoly
: 4. Imperfect Competitian
High Monoposary
167, In Marketing Mix 4 P's imply
1. Product, Price, Place, Promotion [
2. Product, Price, Policy, Place
3. Product, Place, Promotion, Policy -
* 4. Place, People, Product, Policy
5. Promotion, Produet, Price, People
168. A bed in a hotel for night haulting is an exam- |

ple of |
L. Core Product 2, Angmented Product [
3. Expected Product 4. Potential Product '
&, Main Product

168, Marketing Planning helps in
L. aveiding future uncertainties
2. achisving objectives

3. control
4. complete satisfaction
5. Al of the above |
170. Which among the following is mot a tool for |
| Marketing Flanning appraisal 7 i
: 1. External appraizal 2. Imternal appraisal
2. Gap analysiz 4. BWOT analysis |
5. PCOT analysis |
171 In market segmentation, which among the fol- |
lowing is not an Economic Component? i
1 Age . 2. Bax I
3. Both (1) and (2) 4. Income level
5, Taxes

172. A defence strategy of identifying weakness in
the competitor and aggressively going after
that market miche iscalled
1. Pre-emptive 2. Counter offenaive
4. Maobile defence 4. Position defence

. 5. Flanking defence .

161. Marketing is - 173. When a firm sells off part of its business to

another organisation, it is called

L. Consumer oriented



L. Diversification 2, Divestment . ' 184. Data structure include ,

3. Pruning 4. Btrategy * 1. Array 2, Execution statement

4. Joint venture 3. Interaction { Both(2)and (3] |
174. The research which is basically comcermed [ 5, Liat

with establishing cause and effect relation- "185. What is name of the logic cireuit which ean add

ship, is called * two binary digits

1. Diversifiad Ressarch 2. Technieal Research 1. half adder 2. full adder

3. Casual Research 4. Predictive Research 3. parallel adder 4. serial ndder

5. Exploratory Research ' 5. None of these .
176. ACE provides door-to-door service for Godrej 188, A program embedded in a umlmndm:tnr chip
. and McDonald products, it is an example of during their manufacture is called

1. Third Party delivery 1. homanware 2. irmware

3, liveware 4, hardware

2. First Party delivery
3. Multi-Channel delivery

4. Dhiversified Marketing L n anAomirib ¢ the idea of the stored
5. Horizontal Marketing .
176. The goods which are used for fuorther produc- : BUFnER . Charles Babbage
tign are called : . Hopfz ; . Daniel Thomas
1. Durahle goods 2, Market goods , D sEpi
&, Derived goods 4. Congumer goods &'t le pted fields in data organisa-
5, Capital goods tia el e
177. Which among the following a fixed expense in i )
Sales Budget? A3l s 4, Register
1. Incentives : R
2. Rent 39, Plaiter goouracy is measured in terms of
3. Communication Expense )
4. Coammission 2. Intelligence
5. Awards 4. Pixels i
178. Which the following is a feature of good v i
l‘orem:;:]:atbad? ’ - 1e gpeed at which the monitor accepts data is
1. Accuracy 2. Simplieity called
3. Economy 4. Availability 1. Bandwidth 2. Interlacing

3. Response time 4. Scaining
5. Maximurm spead
191. The dbase ITI plus is mostly used for

6. All of the above .
178, A person who ultimately determines any part
or whole of the buying decision is called

1. Decider 2, Buyer 1. Office automation
3. User 4. Influencer 2 Database management prnhl.e-ms
&. Initimtor 3. Bcientific problems

1B0. A package which has a secondary, 4. Caleulations only

after its contents have hmmumaﬂ, 1’

5. None of thess
1. Dual use Package 192, In the "C’ language the function scant { ) reads
2. Bulk Package 1. single character 2. character and strings
3. Both (1) and (2} 8. any possible number 4. any possible variable
4. Consumer Package type .

5. limited variable types
183, BIOS stands for
1. Basie Input Output Service
2. Basic Inner Outer Service
3. Better Input Catput Services
4, Better Inner and Outer Services

b. Industrial Package

5. None of these
184, A commonly used graphic format for the web is
1. GIF 2. bmp 3. text 4. lmp
5. TIF
185 The HTML code written in a text editor to
make web-pages, is
1. HTML eoding tags 2. source oode
3. source element 4. tags
B Mome of these . '
i 186, The basic building block of a database that i
sed b péntrol the operating system mntlinsulahdrmrdun
2. is dezigned to help programmers 1. Q‘LIUI'_'F 2. Form )
3. performs specific task for EOmpUter users 5. Table 4. Edited Page
-115u.aadﬁrmahngdm@nmh- 5. Report

5. All of the above




| 197. A set of rules that computer on a network use]
| to communicate with each other are called

i L. Rules 2. Regulationa
i 3. Protocal 4. Netiquettes
' 5. Mone of these ,
. 188 The process of connecting to the Interney
d account is '
! 1. LOG IN 2. LOG OUT
3. 8IGN IN 4, SIGN OUT
. Mone of these

199, An image editing software in which we cafi]
draw and edit images, is
1. PageMaker 2. MS-Paint

] 3. Photo Image : 4. Front page %
i 5. Corel Draw
" 200. Which out of the following is not a DEMS soff
rws:ru?
: 1. dBASE 2. FOXPRO
i 3. ORACLE 4. SyBase
5. Data base 2000
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